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' Solve the formula for the volume of a rectangular
prism V = ewh for width w in terms of its volume V, iength
¢, and its height h.

V = ¢wh

V- tWh  pivide each side by (,.¢ # 0.
% =wh Simplify.
v '

h = i"%’l Divide each side by h, & # 0 to get w alona on
one side of the eguation.

-{% =w  Simplify.

4 Solvey = 4x — 3 for x.
y+3=4x -3 + 3 Add 3 1o each side.

y + 3 = 4x Simplify,
y__} 3 _ %‘ Divide each side by 4.
y Z 3_ 4 Simplify.

W Solve z — br = p for b in terms of 2, r, and p.
z—br~z=p—z Subtractz from each side.
—br=p —z Combine like terms.

hr_FP - Divide each side by —r.

b=-F2% simplify.
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